Multiplicacion por Celosia (G)

Use la multiplicacion por celosia para hallar cada producto.

4 6 7 3 9 8 5 1
6 8
2 4
6 7
4673 x 626 = 9851 x 847 =
7 0 0 2 7 9 4 1
4 7
2 9
5 4
7002 x 425 = 7941 x 794 =
7 0 4 6 6 6 8 0
8 6
1 6
3 0
7046 x 813 = 6680 x 660 =
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Multiplicacion por Celosia (G) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

4 6 7 3 9 8 5 1
2 3 4 1 6 7 6 4 0 8
2 4 6 2 8 8 2 4 0 8
ot 1 10, 3 13 712 710 7 4
9 8 2 4 6 3 6 2 0 4
2 3 4 | 6 6 5 3 0 7
2 4 6 2 8 4 3 6 5 7
5 2 9 8 3 7 9 7
4673 x 626 = 2,925,298 0851 x 847 = 8,343,797
7 0 0 2 7 9 4 1
2 0 0 0 4 4 6 2 0 7
2 8 0 0 8 6 9 3 8 7
] 0 0 0 ) 6 8 3 0 9
9 4 0 0 4 3 3 ] 6 9
3 0 0 ] 5 2 3 ] 0 4
7 5 0 0 0 0 8 6 6 4
5 8 5 0 5 1 5 4
7002 x 425 = 2,975,850 7941 x 794 = 6,305, 154
7 0 4 6 6 6 8 0
5 0 3 4 3 3 3 4 0 6
5 6 0 2 8 4 6 6 8 0
0 0 0 0 1 3 3 4 0 6
7 7 0 4 6 4 6 6 8 0
2 0 | | 3 0 0 0 0 0
2 1 0 2 8 0 0 0 0 0
8 3 9 8 8 8 0 0
7046 x 813 = 5,728,398 6680 x 660 = 4,408, 800
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